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Botany: Principles of inheritance & variations, Zoology: Human Health & Disease
Chemistry: Organic chemistry- some basic principles & techniques, Physics: Atoms

1. Mendel experimented on garden pea for
1) Six years
2) Fourteen years
3) Ten years
4) Seven years

2. Term recombination was proposed by
1) Morgan
2) Sturtevant
3) Mendel
4) Hugo de Vries

3. Which one is a test cross?
DTTXTT
2) tt x tt
) TtxTT
4) Ttx tt

4. Choose the example of codominance
1) Phenylketonuria
2) Flower colour in 40’ clock plant
3) AB blood group in human
4) Skin colour in human

5. In Mendel’s hybridization experiment, Rr x rr
gives rise to the progeny in the genotypic ratio of
1H2:1
2)1:1
33:1
4)1:2:1

6. One of the following is not the causal organism for
ringworm.
1) Microsporum
2) Trichophyton
3) Epidermophyton
4) Macrosporum
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7. Assertion (A): Pathogens have to adapt to life

within the environment of the host.

Reason (R): The pathogens that enter the gut

must know a way of surviving in the various

digestive enzymes.

1) Both A and R are true and R is the correct
explanation of A

2) Both A and R are true and R is the not correct
explanation of A

3) Alis true but R is false

4) Both the A and R are false

8. The immunity conferred by both T-lymphocytes

and B-lymphocytes is known as
1) acquired immunity

2) tissue mediated immunity

3) cell mediated immunity

4) antigen mediated immunity

9. Symptoms of allergy are reduced quickly by

10.

11.

1) steroids and histamines
2) serotonin and adrenaline
3) adrenalin and steroids
4) histamine and serotonin

Assertion (A): Treatment of AIDS with anti-

retroviral drugs is only partially effective.

Reason (R): They can only prolong the life of the

patient but cannot prevent death.

1) Both A and R are true and R is the correct
explanation of A

2) Both A and R are true and R is the not correct
explanation of A

3) Alistrue but R is false

4) Both the A and R are false

The correct stability order for the following
species is
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12.

13.

The correct decreasing order of priority of
functional groups in naming an organic
compound as per IUPAC system of
nomenclature is

1) -COOH > -CONH: > -COCI > -CHO

2) ~SOsH > —COCI > -CONH, > -CN
N

3)-COOH >-COCI>-NH2>C=0
4) -.COOH > -COOR > -CONH: > -COCI

The decreasing order of acidity following

benzoic acid derivatives
COOH COOH

SA®!

(P) Q)
1)P>Q>R>S
2)P>R>Q>S
3)R>P>Q>S
4)S>R>Q>P

COOH COOH

NO,
NO,

(R) (S)

14.0.5g of an organic compound containing nitrogen

15.

16.

on kjeldahlising required 29mL of N/5 H2SO4 for
complete neutralisation of ammonia. The
percentage of nitrogen in the compound is

1) 34.3

2) 16.2

3)21.6

4)14.8

Glycerol is separated in soap industries by
1) Fractional distillation

2) Differential extraction

3) Steam distillation

4) Distillation under reduced pressure

The given figure represents the energy levels of
a certain atom. When the system moves from
‘2E’ level to ‘E’ level, if a photon of wavelength

‘A’ 1s emitted, then wavelength of photon emitted

during its transition (E—E - E) is

2E

4E/3
'
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G(pBHeMe  (Lpeiteniflentoufedr FFUITET  (&HeDBLIL
aufleng
1) -COOH > -CONH > -COCI > -CHO
2) —-SO3H >—-COCI > -CONH2 > -CN

~
3) -COOH >-COCI>-NH2>~-C=0
4) —-COOH > -COOR > -CONH; > -COCI
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COOH COOH COOH  COOH
NO,
NO,

(P) Q ®
1)P>Q>R>S

2)P>R>Q>S

3)R>P>Q>S

4)S>R>Q>P
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2)16.2

3) 21.6

4)14.8
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17.

18.

19.

20.

The ratio between total acceleration of the
electron in singly ionized helium atom to
hydrogen atom, both existing in ground state, is
1)8:1
2)4:1
3)16:1
4)1:1

In the Bohr model of the hydrogen atom

1) the radius of the n orbit is proportional to n?

1) the total energy of the electron in the n" orbit
is inversely proportional to n

[11) the angular momentum of the electron in an
orbit is an integral multiple of h/2x

IV) the magnitude of the potential energy of the
electron in any orbit is greater than its kinetic
energy

Which of the statement is wrong?

nl

2) IV

)1

4) I

Consider the spectral line resulting from the
transistion from n = 2 to n = 1 on the atoms and
ions given below, the shortest wavelength is
produced by

1) hydrogen atom

2) deutron atom

3) singly ionized helium

4) doubly ionized lithium

Name the series shown in the spectrum of a

hydrogen atom
Continum

=
I
8
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-0.54eV
1) Lyman
2) Balmer
3) Paschen
4) Pfund
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Botany: Principles of inheritance & variations, Zoology: Human Health & Disease
Chemistry: Organic chemistry- some basic principles & techniques, Physics: Atoms

Solution
1. Answer: (4) 16. Answer: (2)
2. Answer: (1) For transistion 2E — E
3. Answer: (4)
4. Answer: (3) 7E -E = E - (1)
5. Answer: (2)
6. Answer: (2) AE
7. Answer: (1) For transition — — E
8. Answer: (1) 3
9. Answer: (3) aE E= he - (2)
10. Answer: (1) 3 A '
11. Answer: (4) (1) — ZE_E:EX3 =3
In (1) - +M effect and more hyper conjugation (2) 7“ 4E _ E E
(1) - +M effect 3
SLAT=3A
12. Answer: (2)
—SO3H >-COCI >-CONH; > -CN 17. Answer: (1)
2
13. Answer: (2) a:v_
Ortho effect is present in carboxylic acid r
2
14. Answer: (2) vmz, r ocn?
n
%N = 14XN XVH-:SD.;imLI . .
wtof orgamccompound a:Z_; — _I:(z])_ =81
{ n a, I
1.4x29x—
- | 18. Answer: (3)
21,2
0.5 Here _nh Eg Sty ocn’
=162 nmZe
15. Answer: (4) Angular momentum, L—n(zl} and
: . -
Glycerol can be separated from spent-lye )
_(alkallne glycerol containing liquid) in soap KE - Ze whereas
industry by using reduced pressure 8me,
distillation technique. )
PE=— fe . [P.E| > [K.E|
TE T
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19. Answer: (4)

a2 2
n, n,

Applying hv = RoZ’ L } , We

hy o Z° G—ziz) orv o Z*

|

72

Since here lithium has highest Z,.. X is the
least for lithium.

1.e., A oC

20. Answer: (4)
The series here consists of wavelengths
which are emitted when an electron jumps
from an outer orbit to the fifth orbit. Here nl
=5and n2=6, 7, 8§,... oo. Thus it is Pfund
series.
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